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Table 1 (After completion, fax to Russ Capelle at 202-366-3640.)

Annual Operating = Adjusted Annual
Year Revenue X Revenue Deflator Operating Revenue
1998 $ .96 $
1999 $ .94 $
2000 $ 91 $
Table 2
Year Producers Price Index (PPI) Revenue Deflator
1994 125.0 1.00
1995 127.0 .98
1996 131.3 95
1997 131.8 95
1998 130.6 .96
1999 133.1 .94
2000 138.0 91
Table 3
= Adjusted Annual
Year Annual Operating Revenue X Revenue Deflator Operating Revenue
1998 $5,095,000 .96 $4,891,200
1999 $5,345.000 .94 $5,024,300
2000 $5,535,000 91 $5,036,850

Note: Yearly PPI’s reflect non-seasonally adjusted data released in January of subsequent year.




